Strange MatrixOp glitch.
Note:  parenthesis notation for simplified expressions.   (1,1) = 1+1i
       
MatrixOp/o/c    C = B x A
  Wrong

· Change B to    repeat operation MatrixOp/o/c    C = B x A
  Correct

· Change B to    repeat operation MatrixOp/o/c    C = B x A
    Correct

· Change B to    repeat operation MatrixOp/o/c    C = B x A
    Wrong  (bottom right cell didn’t change.  Should be (-3,4))

· Change B to    repeat operation MatrixOp/o/c    C = B x A
    Wrong  (bottom right cell updated to correct answer, but top right did not.)
· repeat operation MatrixOp/o/c    C = B x A
    Still Wrong  (top right did not change. Should be (-2,3).  )

· repeat operation MatrixOp/o/c    C = B x A
    Still Wrong  (top right did not change. Should be (-2,3).  )
· repeat operation MatrixOp/o/c    C = B x A
    Still Wrong  (top right did not change. Should be (-2,3).  )
· repeat operation MatrixOp/o/c    C = B x A
    Still Wrong  (top right did not change. Should be (-2,3).  )








